MATHEMATICS
Statements and Sets, Functions, Polynomials and Matrices
We wish All the best for the Xth Standard students 

New Pattern model papers for revision 

We divided total chapters into 4 parts this is first part given to you. After December 11th if you need we can provide you remaining set papers along with PART-B by PAYING some AMOUNT 

If interested you can Contact us on 

Imcoolfriend55@rediffmail.com 

  We will send you the details and mode of payment 
Section—I  

Answer any five of the following Questions Choosing at least two from each group. Each question carries two marks 














5 x 2 = 10m

Group—A

1. Show that [ P^(~q)] ^ [(~p)v q ] is a contradiction 

2. If A,B are any two sets then prove À- B` = B-A 
3. If A = [1
4]
B = [-3
2]
c =[1
0]     find A2 + BC

 [2
1]
       [ 4
0]
     [0
2]

     4. A matrix D has on inverse D-1 = [ 3
4]   find D

                                                             [1
2] 

Group—B

5.    If f: R- { 2} →R is defined by f(x) = 2x + 1                     







       x-2                                        

    then   s.t          f(x) = (2x+1)/(x-1)  = x 
6. Find the roots of  X2 + x(c-b) + (c-a0 (c-b) = 0
7. Let a function f: R→R be defined by f(x) = 3x +2 S.t it is one to one function 

8.  Solve the inequation x2 -6x +5 < 0

Section—II 

Answer any four of the following Questions


4 x 1 = 4m

9. State the Remainder theorm

10. Write the inverse function of the statement ‘If two triangles are congruent then they are similar’

11.  When gof is defined 

12.  If [2a
5]   has no multiplicative inverse find a 

         [ 6

3]

13. If n(AUB) = 51 n(A) = 20 n(B) = 44  find the value of n(A∩B) 
14. If A = [ 1
2]  
B = [-5
6]

                [3
4]             [ 7
8]

Section—III  

Answer any four of the following Questions Choosing at least two from each group. Each question carries two marks 

















4 x 2 = 8m
GROUP--A
15. Prove A ∩(BUC) = (A∩B)U (A∩C)

16. Prove “A Conditional is equivalent to its contra positive”

17. Solve the following equation using Cramers method 

           2x-3y = 19

3x + y =1

18.  If A= [1

4]
 
[2
   m]


      [0
         -1]
B=
[0
-1/2]    and AB = BA then find the  

          value of m 
GROUP—B

19. Using Remainder theorm find the factors of X4 + 2x3- 7x2-8x +12

20. Let f: R→R and g: R→R be defined by f(x) = 1 + 2x    g(x) = 3-2x 

         find gof(3),fog(3), fog(x), gof(x) 

21. A play field is 100 x 60 m has a foot path all round it on the outside.

         What should be the width of the path ,if its area be 3/5th of the area of 

      The play filed 

22. Define Onto function.Is f: R-{2}→R defined by f(x) = x2-4/ x-2 an onto? 

      Give reason 
Section—IV

Answer any one of the following question 

23. Draw the graph Y= x2 – 5x + 6 and solve the quadratic equation  

24. using the graph Y= x2 solve the equation x2 +4x + 4 
